mod. GK/GKK EKU - CLIPO® 35 ™

1 *® Klebstoff-Empfehlungen RLB
Colle recommandée Schienenldnge/Longueur RLB-50 _,_ 25
Recommended adhesive du rail/track length e
2 3x16 BT 3x12
/ ® 2 3x16

Hohenverstellung

Réglage de la hauteur —23x12
Height adjustment
B 1
Befestigungsvarianten / Variantes de fixation 3, B-6 [;
du rail / Choice of track installations
®@® zum Verstemmen oder Kleben e sonienenendstick B =
a enfoncer ou coller separat bestellen ez — .
for calked fitting or glueing Cache d’extrémite N
e du rail a comman-
zum Schrauben der séparément 1 27 @ 3x20
a visser dans la rainure LT ) GG
order separately
screwed on (53.3062.003)
(53.3078.003
@ zum Aufschrauben Taptite-Schraube
a visser M3 x 8 zu Festglashal- Laufschiene inwendig Beim Mobeltransport Tiire
surface mounted screwed on terprofil sep. bestellen reinigen unterlegen
Vis Taptite M3 x 8 pour Nettoyer I'intérieur du Lors du transport de meubles,
@ Wandmontage/Festglas profilé porte-vitre fixe rail de roulement insérer une cale sous les portes
a commander sép. allways clean inside Prop doors when transporting

Montage mural/porte vitre fixe

furniture

Taptite screws M3 x 8 of tracks

Wall surface mounted/fixed glass for fixed glass support

profile order separately
(98.0007.101)

*@ Zentrierhilfe fir 6 mm Glas
Centering help for 6mm Glass
Aide de de centrage pour verre 6 mm

Wichtig

Important

® Slle)sl No. 53.3100.080

@3x16 195 19.5 10 @3x16 20 10 mod. GK

min. 19

min. 30

16
_—

24 2 18
17

TH - 36*

TH-34
TH-17
TH - 18+

CLIPO 35
mod. GKK

KIM
KIM - 7

6mm Glas/glass/verre
TH

8mm Glas/glass/verre

6mm Glas/glass/verre

KIM - 23
KIM

+

n

TH
8mm Glas/glass/verre

24
[
= 2L

19

19

e}
-
4

19.5| 20 21
@ 3x20 @3x12 15 [13.5

EKU CLIPO 35 GK/GKK 1000/0202/788.2000.020 1



Montageanleitung EKU =« CLIPO 35 mod. GK/GKK
Instructions de montage EKU =« CLIPO 35 mod. GK/GKK
Mounting Instructions EKU « CLIPO 35 mod. GK/GKK

Situation mit Festglas Situation ohne Festglas
Situation avec verre fixe Situation sans verre fixe
Situation with fixed glass Situation without fixed glass

Bodenfuhrungen < Guidages au sol = Bottom guide

@3 x12 B mm Combination
mm
4 4+4
6 4+8
8 8+8
k\\\ o
—
—) i J-é‘ié
| ///// -
mod. GK mod. GKK
U-Bodenfiihrung fir 4-8 mm Bodenfiihrung, Glas,
12 x 8 x 4,2 mm Glas, spielfrei spielfrei
(No. 744.0010.081) Guidage au sol pour verre Guidage au sol pour verre,
4 a 8 mm, sans jeu sans jeu
Bearbeitung des Glasfixierungsprofil bei Bodenfixierung mit Festglas Bottom guide for 4-8 mm Playfree bottom guide for

Préparation du profilé de fixation de verre, monté au sol avec verre fixe | 91ass, playfree glass
Preparation of glass fixing profile mounted to the floor with fixed glass

EKU CLIPO 35 GK/GKK 1000/0202/788.2000.020 2



. Taptite M3 x 8
—— — @ (No. 98.0007.101)

Schienen- und Festglashalterbefestigung Situation Wandmontage
Fixation du rail et du profilé porte-vitre Situation montage mural
Installation of top track and fixed glass support profile Situation wall surface mounted

Befestigung der Blende < Fixation du cache < Installations of fascia

Doppelklebeband verwenden
avec ruban adhésif a double face

Use two-sided adhesive tape ~30,

z.B./f.e. 3M Scotch 05

type 4664/4905-f/ 22,0
4936/4930 [‘\

Voreinstellung Hohenverstellung
Pre ajustement Réglage de la hauteur
Pre-adjustment Height adjustment

EKU CLIPO 35 GK/GKK 1000/0202/788.2000.020 3



EKU - CLIPO® 35 ™

Variante mit Festglas
Variante avec verre fixe
Variant with fixed glass

* @ Zentrierhilfe fir 6 mm Glas

Centering help for 6 mm Glass

Aide de de centrage pour verre 6 mm

Einbaubeispiele

Exemples de montage
Examples for mounting

®
mod. GK |

?3x16 20 10

2 ¥
(0] 33
c
=|©
EHL ™
~ &
—
T T
~
’\II 1
Lo
¢ | 255
== >
5| 2 Y27
;gs
(2=
oz
33
OXT)
==
==
0 ©
~ L
t £ <
[}
-

21
?3x12 15 [13.5

mod. GK/GKK

Roll-Schiebetiurbeschlag fir Glasttren
bis max. 35 kg
= System: Glasfixierungs-Profil zum Kleben

Ferrure pour portes coulissantes en verre
jusqu’a 35 kg

= Systeme: profil de fixation de verre a coller
Roller sliding-door fitting for glass door
panels up to 35 kg

=System: glass fixing profile to glue on

mod. KK

Bodenflihrung fur 6-8 mm U-Bodenfuhrung fir 6-8 mm
Glas, spielfrei Glas, spielfrei

Guidage au sol pour verre Guidage au sol pour verre
6-8 mm, sans jeu 6 & 8 mm, sans jeu

Playfree bottom guide for Bottom guide for 6-8 mm
glass 6-8 mm glass, playfree

Klebstoff-Empfehlungen Glas
Colle recommandée verre

Recommended adhesive for glass 35
325
= RHODIA 3B Silicon
= UHU plus Endfest 300 #5x20 @
= 3M Scotch-Weld DP 105
=] el
R i -
? SRRCR ' 2
@ 12_|s|[12]|6
mod. GKK mod. GKK % 35 ®)
@3x16 195 19.5 10 Z3x16 385 10 825
@3 x20 23
o
—
= 3 &
£ 3 4 53,3075 a0
© £ ©
- El o L Hl 2
N T T
™
~
§ - < o * < 0
e 3 P8 N 38 8
T [ |
EE T 1291214 Tz +
o|!hn o N i
s gllig Yee Cee  |glogg sle e 2
S =28 4[zge, 22 s
“2 229 gl ¥g a2 R g
s © e lgg x4
o> Ioo Feo 9
TIE 8 ER 58 o
0o 0o £
EE € E d EE
< sl b 5 ee U MU ©g
Nl JJLH ® © JJLH o
e E= g
= - :
3 8 / = 8 )
195] 20 18.5] 20 @3x20 17 |6 @4x40
@ 3x20

@3x20

EKU CLIPO 35 GK/GKK 1000/0202/788.2000.020 4





